FEMIOAER 2 > FRKF (B R T

1047 37|16 1% A /7 2 -] 37 ¢ LR

P L3 PR [ 8 LyE L #ax
26 n R ABEE LG § CER T 5 R BITEAH A PRI E L 8L
16 = TE2:00 |7 B ARLI04E R KL AT B ¥ 1§ K $1é®z
25 = Lw AR R G RN 2 BRI AR (B 80 B MELd 2 EHFL 2
R BEHE AR TEL 8L IR 4yt --http://tas.kh.edu.tw
GES B AP Rt E A RAY R/ LA
1~14 =~z LI Jri?\'rs’ﬁéﬁ&(iﬁﬁwﬁ #*37) ERd
10 ks 22104 8 & B WY ) AT ILa K KT R
GRS IREEM ARE R L 2 g L KT
fﬁ'& 104 & Bh b 4 B0 € KT e W LRI LR RE
it (ap gL E KT e
rJ]iL_ L e R Y L i LY g 4 h --http://tas.kh.edu.tw
1 I & RFESR I 43R 5
1~12 | --~- B/ 374 % 47 5 Ry
GRS PRI AR A G A-FY (F S ERETER)
o . J0 B ¢ 2 B0 = A = DI N RV
A S o AL 5o e TE
o FRILEL AP A F BB 2 % e
= (P %= sp)
B L A o & 2%
LR b R ATE D .
e 1;bﬁ;f§;#;% e 57
18~19 | - ~= B 374 003 5 2 4R R R i
GRS Frob AT €3 ERE s R
EES PERUR(R: A1 SR R i KT Je
29 7 1045 & R R ¢ ) 4 @ FIFTA Pk KT A
rJ]J& Rhek A 9‘? KT B¢ ) ﬂ\%ﬁéii’#j’fﬁfi!ﬁ:“%%‘?j’ifii‘: %Ef y
FhEK A KNS Fae (3§07 Ao {8 Rt A $ef)
2 - - R 2 A AZEEHCET 4 Bk AR T A
3 = vE12 1 005 |5 AR A IR HEF A B L A P PR LERT R EH
HE B hE L E R B AR e KT
4 = PRI R A A F 4 T e $26%E
5 I T FI PRI REF A BT[N AR REFAN L KT R - = p 10478 1p 2 2%
8 - REES I PR VN 7y T R
9~14 - ~p U A BRREE L g AR TR A 14p 24:008f BF T "% & 3
fE Biob BT E R € 3R CHER T B R
15 S A N R T I S S $o7 263
HE it A 4 P bl S~ A AT AR 5 KT - (104287 1p 4 %
18 s REEAT BP AT T E L E S L H KT - 2 p104E8" 1p 2 2%
18 = 1045 & R R ® -] 4§ 8 FIFL B g T A
13 | BN | e2i00 |emamioderyeme o) mi g 5T F1E#E
i B hk e E et € ERYE B RY

TR : 104 % ST 1 IRALRE =R Hi%%ﬁ?]ﬁﬂf%ﬁ?ﬁ‘g?:ﬁ@%“ DR ER 0 IS TS,

7S f‘l HHLA -




